4—179 N
AT RIBLLE AL
1. Hi#&

4-79 BBl KAL) SR AR I == P 3l A<
Bk m] R A N, o] F R A, S SRR 2 R 3 AR At
ANEBRIN, S AARTCFE R ST B E B i Sk . SR ATA
KitEW s, B iR b R R SR AN KT 100mg/m’ s A i AN itE
it 80°C.

2. H5

PAHL AT ) ol JRE P 1 5 2t w8 3 o 6 e et — A B 5. ARSI ML — i 1
P, RGBT, BRIV KA, L “I” 3RoR; 3l N i i
FROTE ML, L “I” RoR.

KA AL E, DHLSER X A RN, 4-79 T AL No.3~12
TEH T I AN —Fh =X, A S AR A SR P e B T A, 1T
TN ATF A . No.3 H XA F I FEIEE 0° ~225° | [alBgE & 45°
No0.3.5~6 H X7 B RG] 0° ~225° , [AIRE & 22.5° , No.3~6 1657
N A LB . No7~8 H XU B PR HEE T 0° ~180° , MALIAIFE A& 22.5
°, No7~8 [1&5h 7 Xk ¢ RtE3h. No.10~20 1450778 E Xf%sh,
KA B R B R =R 0° L 90° . 180° , ANREIMEE, T ERINNE
e No.10~20 [P0 AT X347 ol e B XU T A7 65 ] o /D — ki 0° « 90
° L 180° , AEEhITACh E RALS), VTR

3. &t

4-79 RKMLH ) No.3~6 KMALEZ hmt4e. Hloe. X0
HEECH BN No7~20 B BEAT FIRE a4, e H &8 7%,

(1) MEEH 16 ANJE MR RNER T . 2 R0%E 55 AR R B4Rk
YIHABCHE, FF B PR e, AR R AF BCRE . B,
P TN

(2) FLFEHI B P AR B 20, No3~12 MLTelE R, ANREPFIT: Nol4~20
PIALSEHI R TE K, AR 7K o =2, RIS R R

(3) HER I e Sl e R AR, e AN HLISA TR, 5 0 ) AT A TR
i1 27 N X e W N 1 31 B AN A B 76 .

(4) Lo B0, B RWahflizR. e .

4. ITRFH:

VIR XA IIHLS . B, KE. TR HOXE A R ekt

T, PAACHEEINLIS, Bk .

87



4-79 B0 XML AR S AR

INR=R = A I - o i H Z L
| 3 W o | D EEEEE
No. | t/min | 5 | m’/h Pa - kW 4 E)
1 1970 1196
2 2180 1167
3 2430 1157
4 2670 1118 Y90S-2
2900 5 2900 1069 (B35) 1.5 M8 X160
6 3130 1040
7 3480 892
8 3830 726
34 1 990 304
2 1100 294
3 1220 284
4 1340 275 Y802-4
1450 st oes 835 0.75 | M8X160
6 1560 255
7 1740 226
8 1910 177
1 3210 1628
2 3460 1589
3 3860 1569
4 4240 1510 Y100L-2
2900 5 2600 1461 (B35) 3 M10X220
6 4960 1422
7 5520 1206
8 6070 981
3.5A 1 1560 412
2 1750 402
3 1930 392
4 2120 382 Y90S-4
1450 13300 3e3 B3%) 1.1 M8 X 160
6 2480 353
7 2760 304
8 3040 245
1 4670 | 2138
2 5220 | 2079
3 5760 | 2050
4 6310 1981
4A 2900 5 6360 1902 Y132S,-2 5.5 M10X220
6 7410 1853
7 8240 1579
8 9080 1275

88




4-79 B0 XML AR S AR

INR=R = A I - o i H Z L
| 3 W o | D LN EE
No. | t/min | 5 | m’/h Pa - kW 4 E)
1 2330 530
2 2610 520
3 2880 510
4 3160 490 Y90S-4
4A 1450 5 3430 431 (B35) 1.1 M8 X160
6 3710 461
7 4120 392
8 4540 324
1 6640 | 2697
2 7440 | 2628
3 8200 | 2599
4 8990 | 2511
2900 5 9790 | 2412 Y160M;-2 11 M10X220
6 10550 | 2344
7 11720 | 2001
8 12920 | 1618
454 1 3320 677
2 3720 657
3 4110 647
4 4510 628 Y90L-4
1450 5 4390 508 (B35) 1.5 M8 X 160
6 5270 588
7 5860 500
8 6450 402
1 9100 | 3334
2 10200 | 3256
3 11250 | 3217
4 12350 [ 3099 | Y160M,-2
2900 5 13410 | 2981 (B35) 15 M12 X300
6 14480 | 2903
7 16100 | 2471
8 17720 | 2001
A 1 4560 834
2 5100 814
3 5630 804
1450 g 2;?3 ;4712 Y100L-4 2.2 M10X220
6 7240 726
7 8050 618
8 8860 500

89




4-79 B0 XML AR S AR

ML | % & |7 | W& |42 & L 3] Bl
g o Iy %\ O ke
: =] 3 Eg s}
No. r/min | 5 | m’/h Pa kW 4 £)
| 7890 | 1196
2 | 8820 | 1177
3| 9740 | 1157
4 [ 10700 | 1118 | Y1325-4
1450 | iren0 11060 (B35) 55 | MI10X220
6 | 12520 | 1040
7 [ 13920 | 892
8 | 15320 | 706
6A 1| 5230 | 530
2 | 5840 | 520
3 | 6420 | 510
4| 7080 | 490 | Y100L-6
1. X
90 57680 [ 471 |  (B3) > | MI0X220
6 | 8200 | 451
7 1 9220 | 402
g | 10100 | 314
N Y |2 N
4-79 BB R AR
GIRCAEEST AN i e s L) 3] Bl I Sy
o7 | ik
oo
No. |t/min| 5 | m*h | Pa | = 7 |kw ES) S el
1 [ 15580 | 2501
2 [ 17400 | 2461
3 [ 19200 | 2422
4 [ 21100 | 2334 C-3658
7C |1800| 555 Toy3e| YI80L-4 | 22 |01-580 | 65-Cyr280 | 48-Cir355 || o
6 | 24700 | 2177
7 127600 | 1873
8 30200 | 1481

90




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

3

v B
[[F==N

SN

Pa

g

Zl)

Bl

i

woy

kW

T
2%

S i

o HL

7C

1600

1971

1942

1912

1844

1765

1716

1481

1167

Y160L-4

15

01-580

65-B4-280

42-B4-315

B-3353
(4 1)

1250

1206

1187

1167

1128

1079

1049

902

716

Y132M-4

7.5

01-460

65-B4-280

38-B4-250

P-3353
(4 1)

1120

971

951

932

902

863

843

726

549

Y132S-4

5.5

01-460

65-B4-280

38-Bs-224

B-3353
(4 1)

1000

775

755

745

716

686

667

578

461

Y112M-4

01-460

65-B4-280

28-B4-200

B-3175
(4 1)

900

628

608

598

579

559

539

471

OO\]O\UI-&UJI\J'—‘OO\]O\UI-bqu\J'—‘OO\]O\UI-bwI\J'—‘OO\]O\UI-IkLAJl\J'—‘OO\]O\Ul-bLAJI\J'—‘d'[ﬂ

373

Y100L,-4

01-460

65-A,-280

28-A,-180

A-3175
(2 1)

91




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

3

v B
[[F==N

SN

Pa

g

Zl)

Bl

i

woy

kW

T
2%

S i

o HL

7C

800

500

481

471

461

441

422

373

294

Y100L,-4

2.2

01-460

65-A,-280

28-A,-160

A-3175
(2 1)

710

392

382

373

363

343

333

294

235

YOOL-4

1.5

01-380

65-A,-280

24-A,-140

A-3175
(2 1)

8C

1600

2491

2452

2422

2334

2236

2177

1873

1481

Y200L-4

30

01-725

65-C4-280

55-C4-315

C-3658
(4 1)

1250

1569

1549

1530

1471

1412

1373

1177

932

Y160L-4

15

01-580

65-B4-280

42-B4-250

B-3658
(4 1)

1120

1226

1206

1187

1147

1098

1069

922

OO\]O\UI-&UJI\J'—‘OO\]O\UI-bqu\J'—‘OO\]O\UI-bwI\J'—‘OO\]O\UI-IkLAJl\J'—‘OO\]O\Ul-bLAJI\J'—‘d'[ﬂ

726

Y160M-4

11

01-580

65-B4-280

42-B4-224

B-3658
(4 1)

92




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

3

v B
[[F==N

SN

Pa

g

Zl)

Bl

i

woy

kW

T
2%

S i

o HL

8C

1000

971

961

951

912

873

853

735

579

Y132M-4

7.5

01-460

65-B4-280

38-B4-200

B-3556
(4 1)

900

785

775

765

735

706

686

598

471

Y132S-4

5.5

01-460

65-B4-280

38-B4-180

B-3556
(4 1)

800

618

613

608

579

559

549

471

353

Y112M-4

01-460

65-B4-280

28-B4-160

B-3556
(4 1)

710

490

471

466

461

441

431

373

294

Y100L,-4

01-460

65-A,-280

28-A,-140

A-3556
(2 1)

630

387

382

378

363

343

333

294

OO\]O\UI-&UJI\J'—‘OO\]O\UI-bqu\J'—‘OO\]O\UI-bwI\J'—‘OO\]O\UI-IkLAJl\J'—‘OO\]O\Ul-bLAJI\J'—‘d'[ﬂ

226

Y112M-6

2.2

01-460

65-A,-280

28-A,-200

A-3556
(2 1)

93




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

b

=
. =

m’/h

SN

Pa

g

5)

L

i

e

kW

T
2%

S i

o HL

10E

1300

38500

2609

44300

2560

50000

2393

55800

2226

59700

2001

63500

1775

Y250M-4

55

01-950

65-Ds-380

65-Ds-340

D-4572
(5 1)

1170

34600

2118

39900

2079

45000

1942

50300

1804

53700

1618

57100

1442

Y225S-4

37

01-725

65-Ds-380

60-Ds-315

D-4572
(5 1)

1000

29600

1540

34100

1510

38400

1412

42900

1314

45900

1177

48800

1049

Y180L-4

22

01-580

65-C4-380

48-C4-265

C-4572
(4 1)

940

27850

1363

32050

1334

36100

1255

40300

1167

43200

1049

45900

932

Y180M-4

18.5

01-580

65-B4-380

48-B4-250

B-4521
(4 1)

830

24550

1059

28300

1040

31850

971

35600

902

38100

814

40500

726

Y160L-4

15

01-580

65-B4-380

42-B4-224

B-4521
(4 1)

740

21900

843

25200

823

28400

775

31800

716

34000

647

36100

579

Y160M-4

11

01-580

65-B4-380

42-B4-200

B-4521
(4 1)

660

19500

667

22500

657

25300

618

28300

569

30300

510

O\Ul-lkwl\.)'—‘O\Ul-bwl\J'—‘O\Ul-lkb-)l\J'—‘O\Ul-bUJI\J'—‘O\Lh-le\J'—‘O\Lh-le\J'—‘O\UI-bWN'—‘J[U

32200

461

Y160M-6

7.5

01-580

65-B4-380

42-B4-265

B-4521
(4 1)

94




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

b

v B
[[F==N

SN

Pa

g

Zl)

Bl

i

e

kW

T
2%

B | oH L

10E

580

520

510

471

441

392

353

Y132M,-6

5.5

01-460

65-B4-380 | 38-B4-236

B-4521
(4 1)

520

412

402

382

353

314

284

Y132M;-6

01-460

65-B4-380 | 38-B4-212

B-4521
(4 1)

12E

1040

2393

2354

2197

2050

1834

1638

Y280S-4

75

01-950

65-Ds-380 | 75-Ds-270

D-4572
(5 1)

940

1952

1922

1795

1677

1491

1334

Y250M-4

55

01-950

65-Ds-380 | 65-Ds-250

D-4572
(5 1)

830

1530

1500

1402

1304

1167

1040

Y250M-6

37

01-950

65-Ds-380 | 65-Ds-340

D-4572
(5 1)

740

1216

1196

1108

1040

932

824

Y200L,-6

22

01-725

65-C4-380 | 55-C4-300

C-4572
(4 1)

660

961

951

883

824

735

O\UIALAJI\J'—‘O\UIAMI\J'—‘O\UI-lkb-)l\J'—‘O\Ul-lkwl\J'—‘O\m-bwl\J'—‘O\m-bwl\J'—‘O\UI-bwl\J'—‘J[U

657

Y200L;-6

18.5

01-725

65-C4-380 | 55-C4-265

C-4572
(4 1)

95




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

b

=
. =

m’/h

SN

Pa

g

5)

L

i

e

kW

T
2%

S i

o HL

12E

580

29700

755

34200

745

38500

686

43000

637

46100

569

48900

510

Y160L-6

11

01-580

65-B4-380

42-B4-236

B-4521
(4 1)

520

26650

603

30650

598

34500

549

38550

510

41300

451

43900

402

Y160M-6

7.5

01-580

65-B4-380

42-B4-212

B-4521
(4 1)

470

24100

490

27700

485

31200

441

34800

412

37300

373

39700

333

Y132M,-6

5.5

01-460

65-B4-380

38-B4-190

B-4521
(4 1)

420

21500

387

24750

382

27900

353

31150

333

33400

294

35450

265

Y132M;-6

01-460

65-B4-380

38-B4-170

B-4521
(4 1)

14E

830

67400

2089

77500

2040

87600

1912

97700

1775

104400

1598

111000

1422

Y315S-6

75

02-745

90-Ds-480

80-Ds-410

D-6096
(5 1)

740

60100

1657

69100

1618

78100

1520

87100

1412

92800

1265

98900

1128

Y280M-6

55

01-950

90-Ds-480

75-Ds-375

D-5588
(5 1)

680

55300

1402

63500

1373

71800

1285

80100

1187

85500

1069

O\UIALAJI\J'—‘O\UIAMI\J'—‘O\UI-lkb-)l\J'—‘O\Ul-lkwl\J'—‘O\m-bwl\J'—‘O\m-bwl\J'—‘O\UI-bwl\J'—‘J[U

90900

951

Y250M-6

37

01-950

90-Ds-480

65-Ds-340

D-5588
(5 1)

96




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

b

=
. =

m’/h

SN

Pa

g

5)

L

B

L

e

kW

T
2%

S i

o HL

14E

580

47100

1020

54200

990

61200

932

68300

863

72700

775

77500

686

Y200L,-6

22

01-725

90-C4-480

55-C4-300

C-5588
(4 1)

520

42200

814

48600

794

54900

745

61200

696

65300

618

69500

549

Y200L;-6

18.5

01-725

90-C4-480

55-C4-265

C-5334
(4 1)

460

37300

637

43000

618

48600

579

54100

549

57700

481

61500

431

Y180L-6

15

01-580

90-C4-480

48-C4-236

C-5334
(4 1)

420

34050

530

39300

510

44300

481

49400

461

52700

402

56200

363

Y160L-6

11

01-580

90-B4-480

42-B4-212

B-5334
(4 1)

370

30000

412

34600

402

39100

373

43500

353

46400

314

49400

275

Y160M-6

7.5

01-580

90-B4-480

42-B4-190

B-5334
(4 1)

330

26800

324

30850

216

34800

294

38800

275

41400

245

44100

226

Y132M,-6

5.5

01-460

90-B4-480

38-B4-170

B-5334
(4 1)

16E

740

89700

2177

103200

2128

116600

1991

130100

1844

139100

1667

O\UIALAJI\J'—‘O\UIAMI\J'—‘O\UI-lkb-)l\J'—‘O\Ul-lkwl\J'—‘O\m-bwl\J'—‘O\m-bwl\J'—‘O\UI-bwl\J'—‘J[U

147800

1480

Y315M-6

90

02-725

90-Ds-590

80-Ds-455

D-6858
(5 1)

97




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

b

32
i

fem

m’/h

SN

Pa

g

Zl)

Bl

i

e

kW

T
2%

S i

o HL

16E

660

80100

1726

92100

1687

104000

1589

116100

1432

124100

1324

131900

1177

Y315S-6

75

02-745

90-Ds-590

80 -Ds-410

D-6858
(5 1)

580

70300

1334

80900

1304

91400

1216

10200

1128

109100

1020

115900

902

Y280M-6

55

01-950

90-Ds-590

75 -Ds-355

D-6858
(5 1)

510

61700

1030

71000

1010

80300

941

89500

873

95700

785

101900

696

Y250M-6

37

01-950

90-Ds-590

65-Ds-315

D-6350
(5 1)

470

56900

873

65600

853

74100

804

82600

745

88400

667

94000

598

Y225M-6

30

01-725

90-C4-590

60-C4-300

C-6350
(4 1)

420

50800

696

58600

677

66200

637

73800

598

79000

530

84000

481

Y200L;-6

18.5

01-725

90-C4-590

55-C4-265

C-6350
(4 1)

370

44800

539

51900

530

58400

500

65100

461

69600

412

74100

373

Y180L-6

15

01-580

90-C4-590

48-C4-236

C-6350
(4 1)

330

40000

431

46100

422

52100

392

58000

363

62100

324

O\Ul-lkwl\.)'—‘O\Ul-bwl\J'—‘O\Ul-lkb-)l\J'—‘O\Ul-bUJI\J'—‘O\Lh-le\J'—‘O\Lh-le\J'—‘O\UI-bWN'—‘J[U

66100

294

Y160L-6

11

01-580

90-B4-590

42-B4-200

B-6096
(4 1)

98




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

b

=
. =

m’/h

SN

Pa

g

5)

L

e

B¢y

L

i

= =t

=

kW

T
2%

S i

o HL

16E

290

35100

333

40500

324

45700

304

51000

284

54500

255

58000

226

Y160L-6

7.5

01-580

90-B4-590

42 —B4-230

B-6096
(4 1)

18E

660

114000

2187

131100

2138

148100

2010

165400

1844

176900

1677

187900

1491

Y315L-6

110

02-745

100-D7-640

80-D7-440

D-7112
(7 1)

580

100200

1687

115300

1648

130300

1549

145500

1422

155600

1294

165100

1147

Y315M-8

75

02-745

100-Ds-640

80-Ds-510

D-7112
(5 1)

520

89900

1363

103400

1334

116900

1245

130500

1147

139200

1040

148100

932

Y315S-8

55

02-745

100-Ds-640

80-Ds-475

D-7112
(5 1)

470

81200

1108

93400

1089

105500

1020

117900

932

126000

853

133800

755

Y280M-8

45

01-950

100-Ds-640

75-Ds-410

D-6858
(5 1)

420

72500

883

83400

863

94200

814

105200

745

112600

377

119500

598

Y250M-8

30

01-950

100-C4-640

65-C4-370

C-6858
(4 1)

370

63800

686

73500

667

84000

628

62600

579

99100

530

O\UIALAJI\J'—‘O\UIAMI\J'—‘O\UI-lkb-)l\J'—‘O\Ul-lkwl\J'—‘O\m-bwl\J'—‘O\m-bwl\J'—‘O\UI-bwl\J'—‘J[U

105400

461

Y225M-8

22

01-725

100-C4-640

60-C4-330

C-6858
(4 1)

99




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

b

32
i

fem

m’/h

SN

Pa

g

Zl)

Bl

54

e

il

b

)

= =t

=

kW

T
2%

S i

o HL

18E

330

56900

549

65600

530

74900

500

82600

461

88400

422

94000

363

Y200L-8

15

01-725

100-C4-640

55-C4-300

C-6858
(4 1)

290

50400

422

57600

402

65800

382

72600

353

77600

324

82600

284

Y180L-8

11

01-580

100-B4-640

48-B4-265

B-6350
(4 1)

260

44800

343

51700

324

59000

304

65100

284

69600

255

74100

226

Y160L-8

7.5

01-580

100-B4-640

42-B4-236

B-6350
(4 1)

20E

580

137500

2079

158400

2039

178700

1912

199700

1755

213500

1598

226500

1412

Y355M,-8

132

02-890

100-D5-740

95-D7-590

D-7620
(7 )

520

123400

1677

142000

1638

160200

1540

179000

1412

191300

1285

203000

1138

Y315L;-8

90

02-745

100-D5-740

80-D7-530

D-7620
(7 )

470

111000

1373

128300

1344

144800

1255

161700

1157

173000

1049

183500

932

Y315M-8

75

02-745

100-Ds-740

80-Ds-475

D-7112
(5 1)

420

99600

1089

114800

1069

129400

1000

144500

922

153900

834

O\Ul-lkwl\.)'—‘O\Ul-bwl\J'—‘O\Ul-lkb-)l\J'—‘O\Ul-bUJI\J'—‘O\Lh-le\J'—‘O\Lh-le\J'—‘O\UI-bWN'—‘J[U

163700

745

Y315S-8

55

02-745

100-Ds-740

80-Ds-425

D-7112
(5 1)

100




4-79 B0 XML R SR AR

Pl

No.

ek

r/min

b

=
. =

m’/h

SN

Pa

g

5)

L

B

L

e

kW

T
2%

S i

o HL

20E

370

87800

843

101200

824

114100

775

127400

716

135500

647

144100

579

Y280S-8

37

01-950

100-Ds-740| 75-Ds-375

D-7112
(5 1)

330

78300

677

90400

657

101900

618

113700

569

120800

510

128600

461

Y250M-8

30

01-950

100-C4-740| 65—C4-330

C-6858
(4 1)

290

68800

520

79500

510

89500

481

100100

441

106100

392

113000

353

Y225S-8

18.5

01-725

100-C4-740

60-C4-300

C-6858
(4 1)

260

61700

422

71200

412

80300

382

89600

353

95200

314

au|h|w=|ovu| v |=|ov|u| & vt [—=|ov[u| & Wt |—| dn

101400

284

Y200L-8

15

01-725

100-B4-740

55-B4-265

B-6858
(4 1)

101




7 ¢px cu
T¢+_é|o-ﬁ|l
]
9] v 9
( S¢=) cex’u -
H Y H -
|_|||_I|| .va
0 e
P ] ! | °
: | | I
| | !
(| f..l.vloumél-
—
SN
I+ - 4 —- a1 o
——— |
|\
. __
\ \)- %
4 _ T
.m : TX ( P) WX U
Nl_ —l_

BB W AW %R B Ve - £ ON TE6L—b

53

v3

°3

(D)

¢3

'3

116



LTI

4-79 7 No.3~6A 2500l KM 2238 M ANE R <) R

g | R R o
B35 | D | Dl B A mXai=A) | A Ay neXax=As) | As X dy
No.3 gg;i ®335 | ©370 | 8-M8XI8 305 | 4x88(=352) | 375 | 234 | 3x87(=261) | 284 14X ©7
N0.3.5 399000;;‘2 D388 | ©405 | 12-M6X15 379 | 4X101(=404) | 429 | 273 | 3X100(=300) | 323 14X ©7
No.4 Y;Sgg_lf 445 | D495 |  8-M8X 18 433 | 5X93(=465) | 493 | 312 | 4x86(=344) | 372 18X 7
No.4.5 Y;ggi’{f D500 | ©545 | 8-M8XI8 487 | 5X103(=515) | 547 | 351 | 4x95(=380) | 411 | 18X ®85
No.5 ‘éll%%“ffj D560 | ©600 | 16-M8X 18 542 | 6X97.5(=585) | 622 | 390 | 4X108(=432) | 470 | 20X ®8.5
No.6 3835‘6‘ D650 | ©700 | 16-M8X18 650 | 6X115(=690) | 730 | 468 | 5X102(=510) | 548 | 22X ®10
s COE D 2 n LT
L @Eizﬁgﬂ BB | B | B B B | kL L |]aln|alel|  PRABRGE Jr(ff gﬁiﬁ
M(dy) X 1, (ke)
No3 |—g0o2— 541|234 307 | 258 | 335 | 613 g0 173 3o 117 2251100 (4301 130 (504 3 | M8x200 | 7.1 | 26
No3.5 ‘99000;;‘2 631 | 273 | 358 | 300 | 387 | 707 19000 197 228 137 3471411:2 }6‘8 }28 };8 fgg 35 1\&180;220500 8.8 31
No.4 Y\}S(?S-lf 721|312 | 409 | 344 | 443 | 811 19302 227 Zgg 156 ;ég }gg ﬂg %28 %28 4 1\&180;220500 204 | 62
No.4.5 Y;ggi’{f 810 | 351 | 459 | 386 | 497 | 907 19600 253 22‘9‘ 176 32991&5 f;g fig f;g ?38 45 1\&180;220500 37 | 75
No.5 ‘éll%%“ff_f 902 | 390 | 512 | 430 | 554 |1016 }88 283 323 195 ;‘; %4118 %23 f;g 382 5 ﬁ}éiggg 304 | 97
No.6 3835‘6‘ 1082| 468 | 614 | 516 | 665 |1121 }83 330 gg% 234 338 140 fég %22 3(8)2 6 | MI10X250 | 45 160




3 _ v
Hy ¥ Zpx cu AX( vvvs_xvn ) )
$|+|_LI..|_| —
" \_
9 =
Heveerfl] | |5 |
._.AquvaXvC uvw.vuv _ _ _ .
el |71 s it L
oy T v Il | [+ X ®) Xy G0
99 | . ~ —
n n \ .
i —— - / \ ©
' AN I
= il =)=
| ) \ .N.
3} .
O\ —~
> — =
INCEER (T _
] ] Ammv Nm
1 ]
00 W\_R

Bl S o A N6 3 2 TN B 08 L ON

.08 L My

]

83

‘3

| ¥

53

93

(")

BEANRE)

118




611

4-79 74

No.7. 8C RLyill WAL 23 S AME R 3R

it

A F th A m
Bl FheE
D1 Dz bXbXd Hﬁ*ﬁégﬁ A1 n3 X al(=A 2) A3 A4 1’l4>< az(:A 5) A(, np X dz
nl-M(dl)Xll
No.7 | @800 | ©750| L40X40X4 12-M10X25 | 758 | 7X115(=805) | 838 546 | 5X118(=590) 626 | 24X D10
NO.8 | 910 | ©860 | L40X40X4 12-M10X25 | 866 | 7X130(=910) | 946 624 | 5X133(=665) 704 | 24X D10
© %e M b i R ~f
Bl -
Ci G, G Cs Cs Cs E, E, E; E, Es E¢ E; Eg Eg Eio
No.7 305 370 | 330 | 400 440 520 | 1261 | 546 715 804 631 | 1435 | 1405 | 1291 | 1435 | 601
NO.8 368 415 | 390 | 470 440 520 | 1440 | 624 816 914 715 | 1629 | 1599 | 1470 | 1629 | 685
© e K b Z N S . FMZLE
1 N
B g g | o) (R
E11 Elz A7 Ag Ag A10 A11 A12 H | K L L1 Lz f g (kg) EEZjJ*J_L)
M(d3) X 12 M(d4) X 13 (kg)
No.7 [745|834]975(1030{510|590{ 156 |89 |280(385|1533|318|643|622|672 M24 X500 M16X320 71 427
NO.8 [846/9441083(1160{510|590{150|80|280(441|1605|357|673|700|750 M24 X500 M16X320 87 514




ta

a3 1 (9)
| V]|
0 ) 99[¥o[sa]L0
h< w< ""F
wo no mo _\O wo 3 N
I || | ML
_ E N |
| m L L]
- _ _ 6| | \_ _I B
pkw \\._} N : = \N\TH
’ AN o S |
S _\% =g I P
RPNt -0 M
. | ||-”mmT_ n__.,_._ m<
MIJI _ R ) 0
| | =
. 1 -1 S |
_ [*~)
& m m
A L mp:
" | | ! = \_._/S - 7 }
> ® —
_h | w - - -| )
._I “ I_| - / \
N + I _l “ N - | —
& 7px <u "
T Sy=) ¢ex vu '3 [E] (o)
%V 081 My 3
206 I
MEl P Y AU FZWENEIO 8 "9 v "¢ "0l 'ON [&6L-V

120



14!

4-79 B No.10. 12. 14. 16+ 18. 20E B0l XML Z23E M AME R~ 5%

B S S P R W H M M ode KA B RS

L D, bXbXd | mXd | A | mXa(=Ay) Az | Ay | mXax=As) | Ag | mXd, |G| G | G| G| G | Cs|Cq| Gy
No.10 | D 1140| 50X 50 X5 [16 X D15[1083| 8 X 142(=1136) | 1183 | 780 | 6X139(=834) | 880 |28 X ®12|465| 691 | 860 | 192 | 268 |370|370| 150
No0.12 | D 1340| 50X 50X 520X ©15[{1300{10X 130(=1360) | 1400 | 936 | 7X142(=994) |1036|34X D 12|543| 865 [1026| 190 | 270 | 500 |500| 160
No0.14 | D 1580| 63X 63X 6 (24X D15[1516(11 X 143(=1573)|1642|1092| 8 X 144(=1152) |1218|38 X @ 12|716] 999 [1192| 305 | 395 | 500{500| 160
No0.16 | D 1780| 63X 63X 6 (24X D15({1733[12X 149(=1788)| 1859 |1248| 9 X 145(=1305) |1374|42X ©12|794|1135|1348| 315 | 405 | 600 |600| 175
No.18 | P 1996| 63X 63X 626X D15[1949(14X144(=2016)|2075 140410 X 147(=1470)|1530{ 48 X ©12|913]1203|1544| 350 | 450 | 700{700| 160
No0.20 | P2206|63X63X6 26 X D15(2166(16X140(=2240)|2316|1560[12X136(=1632)|1710{ 56X ©12|985[1286/1700| 410 | 490 | 800 |800| 220
G %é e A Uz R ~F - KL
HLe HEIERFR (8 &) o (I\#@%
Co|Cio|Ci| Ef | Ex | Es | Es | Bs | E¢ | E7 | Es | Eo |Ejo | Eii [En| A7 | Ag | Ag | K | t ERVIEIN)

M(d) X1, | (kg) (ko)

No.10 | 290 | 400 | 400 |1797| 780 {1017{1142| 894 [2036|1996|1837|2046| 854 {1057|{1192| 930 |1516]1606| 551 |10| M16X400 236 950

No.12 | 340 | 500 | 500 |2154| 936 |1218{1360({1063|2423|2383|2194|2443(1023(1258|1420({1086{1774]1880| 660 | 12| M16X400 309 1130

No.14 | 440 | 600 | 600 |2565(1092|1473({1592(1232(2824|2837|2552|2851{1245(1460({1659(1272|2068(2230| 771 | 14| M24 X 630 619 2069

No.16 | 525|700 | 700 |2922(1248|1674({1810{1400{3210|3223|2909(3237(1413(1661|1877(1428|2322(2510| 880 | 16| M24 X 630 737 2474

No.18 | 540 | 800 | 800 [3280]1404|1876|2029(1579|3608[3611|32773645[1582| 18732 116|1654]2656|2826| 991 | 18] M30x800 | 1137 | 3853

No0.20 | 630 | 850 | 850 |3649(1560(2089(2259(1748(4007|4022|3634|4044|1763(2074|2334{1810{2890(3100(1101{20| M30X 800 1343 4301






